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INSE KO ERERE R CRPUI - AR

EBA CVRISFE  BoRS LERME . e

FIES R 51 67 78 8H 9H 35 KA | feME | B

A AL

FREE] (12 43) 9:10 9:20 10:55 | 10:40 | 10:35 | 13:25 | 10:50 | 11:05 — — — —
bk m/s) 0.20 0.41 0.20 0.49 0.27 0.20 0.17 0.15 —_— —_— 0.15 0.26
AR Hials [ oD ety s Pty Fiads Feos — — — — —
Evie7d (m) 0.20 0.20 0.35 0.25 0.30 0.20 0.23 0.13 —_— — 0.35 0.13 0.23
Bk () Edu] £fE I FIE b3E] RIE =g Eic] — — — — —

% kL C) 15.8 15.1 16.0 22,3 23.2 13.0 3.0 -1.5 — —_— 23.2 -1.5 13.4

a AR (C) 12.6 13.7 5.6 18.9 19.0 11.0 9.5 5.5 — — 19.0 5.5 13.2

;i; SR OB | HOHEN | HEEY | BBEEH | KEEN | memn | EenE | Besy —_— —_— —_— — —_—

g 2% (HIF) fue 5L plla S 5 feR g pi3 -1 5% fiE 5L — — — — —

HLE (cm) 50. 084 _k|50. 084 E(50. 08 k| 7.2 |50. 0LL.E|50. 0LA K |50. 084 E|50. 084 E — — | — | —
W (m) — — — — — — — — — — — — e
3} —_— — —_— —_— —_— —_— —_— — — e — e —
pH 2.98 2.89 2.78 3.26 2.81 2.77 2.78 2.76 —_— —_— 3.26 2.76 2.88
pH4. 3ERAE (CaCO4mg/1) 103 129 207 80.7 217 211 217 207 — — 217 80.7 171
pll6. OBREE (CaCO4mg/1) 252 308 422 182 429 497 503 508 —_— —_— 508 182 388
pHS, 4EREE (CaC0gmg/1) 290 351 484 209 494 575 584 590 —_— —_— 590 209 447
pHA. 37 % Y fE (CaCOzmg/1) -103 -129 -207 ~80. 7 -217 -211 -217 -207 —_— — | -80.7 -217 -171
pH6. 07 V4 U fE (CaCOymg/1) -252 -308 -422 -182 -429 -497 -503 ~508 _— — -182 -508 -388

At pH8. 47 44 YV fE (CaClymg/1) -290 -351 -484 -209 194 -575 ~584 -590 —_— —_— -209 -590 -447

| RREEA A (mg/1) 307 340 499 244 185 577 587 572 — — 587 244 451

;;% b1 A (mg/1) 0.000 | 0.000 | 0.000 | 0.000 [ 0.000 | 0.000 | 0.000 [ 0.000 —_ — 0.000 | 0.000 | 0.000

| R (mg/1) 194 228 308 112 311 365 387 360 —_ —_— 387 112 283

| 4k (mg/1) 14,6 18.2 14.6 10. 8 25.6 30.8 33.6 31.8 —_— — 33.6 10.8 22.5

SN (mg/1) 592 | 4.44 | 3.07 | 4.13 | 2.38 | 3.09 | 4.93 | 6.47 — | — 1 647 | 238 | 430

Fe¥* (mg/1) 8.38 13.5 11.2 4.52 22.3 27.7 28.4 24.8 —_— — 28. 4 4.52 17.6
EIREER (mg/1) 14.3 17.9 14.3 8.65 24.7 30.8 33.3 31.3 e — 33.3 8.65 21.9
FAI=TALAY (mg/l) 34. 4 41.1 56.6 25.0 59.5 68. 6 73.9 62.5 —_ — 73.9 25.0
FAI=wh  (ng/1) 3.1 | 42.0 | 57.4 | 26.4 | 6.6 | 686 | 742 | 66.5 U a2 | 264
BT bhA A (ng/1) 64. 7 74.6 99.3 44.4 96.3 113 119 116 —_— e 119 44, 4
RPN (mg/1) 65.6 75.7 101 47.2 97.8 114 120 117 —_— —_— 120 47.2

@loss (mg/1) 0.2 L1 | 05 98. 4 0.1 1.3 0.2 5.1 — — 98.4 0.2

w| e (F%) 1.0 0.4 0.1 55.2 0.2 1.2 0.1 .3 —_— —_— 55. 2 0.1

?g ] (nS/m) 140 161 207 | 103 | 206 242 242 234 —_ | — | 212 103

H | BECYA (ing/1) 60. 9 68.9 74. 4 43.9 83. 1 93.0 89.5 87.8 e — 93.0 43.9

Bl cuw (mg/1) 61.0 69. 0 74.5 86.7 83.2 93.0 89. 7 88.3 S —_— 93.0 61.0

(mg/1) 0. 07 0. 06 0.41 0.83 0.22 0.10 0.21 0.04 — -— 0.83 0. 04
(mg/1) 1.94 2.43 2.40 4.70 1.67 2.04 2.43 1.97 —_— —_— 4.70 1.67
(mg/1) 0.11 0.12 0.13 0.23 0.11 0. 24 0.12 0.09 — —_— 0.24 0.09

: (ng/1) 0.08 | 0.123 | 0.152 | 0.081 | 0.123 | 0.114 | 0.122 | o0.154 — | — | o154 [ 0.081 | o.

& Wruaz 40 (ne/l) 0.0 0.0 0.0 3.0 0.0 0.8 0.0 0.4 — — 3.0 0.0 0.5
s BEERER (mg/1) 8.81 8.72 8.22 7.51 8. 15 9. 80 9. 09 9.51 — — 9. 80 7.51 8.73
B Kigiines (MPN/100m1) 0 0 0 7 0 0 0 0 — | — 7 0 !

BRIy L (mg/1) — | — | — | — | — | — | — | — — | — | — | — | —
BTV (mg/1) — —_— — — — — — — — — — — —_—
&h (mg/1) — — — — — — — — — — — _— —_—
FAlli 7 v b (mg/1) _ | — ] — ] — | — | — | — | — — | —} — | — | —

.| e (mg/1) 0.020 | 0.024 | 0.033 | 0.010 | 0.033 | 0.039 | 0.041 | 0.0d0 — | — | o041 | 0010 | 0.030

sz ML R (mg/1) 0.017 | 0.024 | 0.033 | 0.002 | 0.033 | 0.037 | 0.040 | 0.040 —_— — | o.040 | 0.002 | 0028

T okt (ng/1) — | — — | — | — | =] — | — — | — | — | = —

Bl 5 renke oen SN [ g [ — | — — — =1 1 =1 =

PCB (ng/1) _— —_— — — — — — e — —_ —_ —_— S
Fyraa=Fre (ng/l) —_— — — — — — —_— — —_ —_— —_ —_— —
FrIseaxFLy (ng/l) — — — e — — e - — —_— — —_ ]
7 /%: (mg/l) — - — - — — - - - —_— — I —
T2/ =N (ng/1) _ —_— — — — — — — — — | — — —_—
gl W (mg/1) — | — | — | — | — | — | — — — | — | — | — | —

| me (mg/1) — —— — — — — — — — — — — e

AR A0 — | — | — | — | =1 — 1 —| = — = =1 —1=

| ne~FYopi (me/l) — — — — — — — — — —_— — — —_—

B sabs7ase f (mg/D — | —— ] — | — | — | — | — — | — | — 1 — 1 —

VAT (mg/1) — — —_— - — — o — —_— — — — —_—
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AN

Py

F7K 7K

ERACPRISER AR 20KEHE

SHERE R (PN - BT

PRI YA

A

FRIREA B 5H 6 7H 8J1 9H 107 114 128 1A 2H 35 Bl | R | A
FoRediihad
KA W & & & ¥ % i LR L i R — —
R (1652 43) 10:55 | 10345 | 13:05 | 13:18 | 13010 | 145 | 13115 | 13510 | 10045 | 10:40 | 10000 | —— — —
i (m/s) 0.32 0. 46 0.15 0.31 0.18 0.32 0.22 0.16 0.10 0.13 0,09 0. 46 0,09 0.22
Bk AL W ol Fls ol ol Bl P ok il L ok E— —_ —
R (m} 0.25 0.30 0.40 0. 30 0,23 0.25 0.20 0.15 0. 20 0. 14 0. 16 0. 40 0. 14 0.23
FRAR B (m} b3 Fid # RE *iE el 3= #iet FG B3] KE — — —
fﬁ LU C) 19.2 | 142 | 4.8 | 205 | 212 | 105 | 55 | -.5 | -1.5 | -2.5 | -0.5 § 212 | -2.5 | 9.1
BT S (C) 12.1 1.5 13.4 17.1 16.0 95 6.0 3.5 2.0 0.0 2.0 17.1 0.0 8.5
;{Z Piyci! HEEN | MOEW | MEEN | RONE | SER0 | HEEm | Resn | Remy | #esy | gesy | seen | — —_ —
g B (#Y) e 51 fi 52 Pl s 5 5 hi33 g 13 e feg — — —
R (cm) 50. 050 [50. 0B k|50 0LLE]50. 044 k| 50. 021 k| 60. 081 E|50. 04 k|50, 024 k{50, 0BLE|50. o BjB0. 08l f — | — | ——
TN AR (m} — R ——— e —_— — — — e e — — — —
e o — B o — — — — — e e — — — —
pH 2.88 2.99 314 3.24 311 319 3.00 5.04 3.20 3.24 3.29 3.79 2.88 3.13
pHd. 3EERE (CaCOgmg/1) 116 86. 3 68.7 74.9 77.0 64.1 77.7 75.2 68. 4 48.4 63.5 116 48.4 74.6
w6, OB (CalOzmg/1) 196 165 148 146 154 158 179 178 172 164 166 186 146 166
pHR. BRI (CaCOymg/1) 216 182 166 162 173 179 202 201 194 186 187 216 162 186
pHA. 37 0 U B (CaCOgng/1) ~116 ~86.3 | -68.7 | -74.9 | -77.0 | 641 | -77.7 | -75.2 | -68.4 | -48.4 | -63.5 | -48.4 -118 ~74.6
plis. 07 % U (CaCOgmg/ 1) ~196 -165 ~148 -146 -154 -138 -179 -178 ~172 ~164 -166 -146 ~196 ~166
ae | P8 17 v U g (CaCOmg/1) ~216 ~182 -166 -162 -173 ~179 -202 ~201 ~194 ~186 -187 ~162 -216 —186"_!
P | GhERA A (ng/1} 297 252 270 262 262 301 328 334 324 236 334 336 252 300
?;fj et Ay (meg/1) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 |
@ | mE (mg/ 1) 4.5 | 43.7 | 5L2 | 525 | 48.1 58.0 | 73.1 66.3 | 74.3 | 77.8 | 753 | 77.8 | 41.5 | 60.2
B ak (mg/1) 113 8. 02 11.3 6.58 6. 30 6.06 8.13 9.02 7.41 6.17 6. 47 11.3 6. 06 7.89
A Fe* (mg/1) 0. 93 0.75 0.59 0.87 0. 66 0.62 0.67 0.69 0. 62 0. 71 0.74 0.93 0.59 0.7t
Fe (mg/1) 10. 1 7. 18 10.4 5.25 5.50 5.36 7.01 829 6.70 545 5.67 10.4 5.25 6.99
VRIRIESR (mg/1} 1.0 7.93 1o 6.12 6.16 5.98 7. 68 8.98 7.32 8. 18 6. 41 1.0 5.98 7.70
FizgndAs (wg/l) 19,2 17.9 18.6 17.6 18. 4 21.5 24.2 22.4 23,7 23.2 28,9 24.2 17.6 21,0
FAI=® A (/D) 19.4 18.1 18.9 8.1 19.6 21.8 25.8 23.0 24,0 23.7 24.0 25.8 18. 1 2L.5
By b A (ng/1) 38.1 30.8 15.5 43.0 43.0 52. 1 59.6 56.6 60.3 62.2 60.6 62.2 38.1 51.0
HA e A (mg/1) 38. 9 39,9 45.7 43.0 44,3 52.9 60. 7 57.0 624 62.8 61.2 62.8 38.9 51.7
w1 ss (mg/1) 0.2 0.8 0.4 5.4 0.2 0.2 0.2 0.1 1.5 0.1 0.0 5.4 0.0 0.8
K8 3 05 | 03 | 20 | 39 | 1t | o4 | 00 | 05 | 00 | 00 | oo | 88 | o0 | o8
E HEE (S /m} 108 92.5 85.8 88.4 | 87.9 92.4 104 104 101 100 99.8 108 858 96,7
B BFEIUS (ng/1} 54.2 36.0 62.7 59. 4 66. 3 715 68, 1 64.3 63.0 68. 3 60.0 TLE | 542 64.3
Bi 2w (mg/1) 54,2 56,3 62.7 62.0 86, 3 72,2 68, 2 5. 7 68.0 68. 3 69.0 72,2 54,2 64, 8
% | BOD (ng/1) 0.21 0.26 0.28 0.11 0.02 0.07 0.10 0.15 0. 04 0. 14 0.05 6,28 | 0.02 0. 13
% | o (/1) Loz | 098 | 097 | 196 | o091 | Lo7 | roi | 136 | 50 | L1l | 1.3 | 196 | o091 | 120
fé RER (mg/1) 0.17 0.27 0.23 0.23 0.17 0.27 0,23 0.16 0.19 | 0.20 0.20 0.27 0. 16 0.21
Bl #8vA (mg/1) 0.035 | 0.055 | 0.015 | 0.025 | 0.017 | 0.023 | 0.014 | 0.020 | 0.0611 | 0.010 | 0.010 | 0.055 | 0.010 | 0.021
fd %’é’/n%jwlx {rg/1) 0.5 0.2 0.0 0.8 0.1 1.2 02 0.5 0.0 0.0 0.0 1.2 0.0 0.3
4| BERE (mg/ 1) 9. 41 9. 67 9.25 8. 64 8.59 10.0 10.3 11.2 115 17 1L7 1.7 | 859 10.2
B8 s (MPY/100m1) 0 0 0 2 0 ) 0 o 0 0 0 2 0 0
HEITA (ng/1) el e e e e e e e e e e e — |
BT (mg/1) e e — — — — e —— — — — — - e
i (ng/1) e — — — — e — — — — — — — e
P ITR=IN (ng/1) — — _ —_— — — — — — — — — e R
e v & (mg/1) 0.003 | 0.002 | 6.001 | 6001 | 0.002 | 0.000 | 0,000 | f.001 | 0.000 | 0.000 | 0.000 | 0.003 | 0.000 | 0.001
| BRtEeR {mg/1) 0.002 | 0.002 | 0.001 | 0.000 | 0,001 | 0.000 | 0,001 | 0.000 | 0.000 | 0.000 | 0,000 | 6.002 | 0.000 | 0.00
LYY (ng/1) e | | — | = | e | —— = — ] e | e
Bl BT ——i | — | ] | | e - —_— — ] — ] — | — | —
PCB (ng/1) e — e R — — — — — _— —_— — — — e
FYZuBpFLr (ng/l) — —— ] — R —— e R —  — —_— i —— —
FrIseucFre (ng/l) B — — —_— R — B — e e e — —_ — B —
7w (mg/1) — | - — — R R R e e — —_ ] — —
7z AR g/ e R — — —_— R — B e — —_ —_ — R
Y| (mg/1) — — — —— — B o — — — — e - e
??f Tisn (mg/1) — — — — e R e —_— — — — e o —
2 R~ T g/ —_— | — ] — | | | | = ] | —— | | e | e ] e
B | e g/ 1) e — —_— e R R e — E— e R i R
Bl srsvase F (mg/l) T B N I R e I - NN R I R —
7 1 s (mg/1) e | e | ] e | e e e | | o | e | e | ] e |
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A3 F A A B R E A SR ()

- A

Xhn

E),

HIE4 OERISEE SRS ARENE S} B2 RCHE 2 BB 4
11 R Seraiea
FLEUER 55 64 75 8H 9H 1A 12A 1A 258 35 BeXA | Bobt | SFWiE
RAH R
Rk 2 | & | m | ® | m | # g ow | s o | oe |
SRR (EF:53) 11566 | 11:35 | 14715 | 14215 | 13:35 | 14:45 | 10:45 | 10:35 | 11°10 g:00 11:10 - e e
ik s (m'/s) 0.93 0.68 0,92 0.68 0,81 0. 58 0.38 | 0.41 6.42 | 0.29 0. 34 0.93 0.29 0,59
Bokhr#E el Fils iy Foabs Wl Al el Feols el el L — e —
KR () 0.15 0.20 0.16 0.15 0.17 0,70 0. 65 0,70 0.70 0.60 0.70 0.1% 0.39
" ARG (m) Ff RE E] Fa] R #ig KR #S #E B3] — — —
i f 49 19.5 6.8 17.0 24,9 28,0 7.5 [.5 0.0 -4, 8 2.8 26,0 -4.8 1.3
Wy AR [§®)] 33.0 33.2 32.5 38.7 35.5 31.4 3.1 3.7 30,6 33.4 38.7 30.5 32.9
;ﬂg L mevEe | sea | meEn | ek | RSBy | Ses | Basel | ol | #aes | Beel | #ack] — —_— e
H B (# ) 33w B 5 TRk S B ek R B EH AR R PR Ak S R Ak B Ak R Rkl R |BEeekdi] s — — —
M (cmw) 50. 0LLE{50. 08X E|50. 024 EI50. 0£4 k|50, 0£4 k150, 084 {50 DELEI50. 084 E150. 0LL Efs0. 0L Efs0. 0B — | —— | —
B (m) o — — — e — e — e — o —_— e ——
| kB -— — ] — E— — — — — o — — — —— —
pil 2.01 2.08 2.02 2.93 2.10 2.04 2.09 2.06 2.06 2.03 2.04 2.23 2,01 2.07
""" pll4. 3FREE (CaClymg/ 1) 645 570 851 585 546 608 518 595 611 618 642 851 518 503
pll6. 0% (CaCOymg/1) &4 728 823 746 696 782 679 687 786 806 824 824 679 762
P8, 4BE L (CaCOymg/ 1) 882 778 881 802 747 839 733 737 845 870 884 ¥84 733 818
plld. 37 A U [ (CalOymg/1) ~645 ~570 ~651 -585 ~546 -608 -518 ~525 R -618 ~642 -518 -661 -593
plIB. 07 /L4 U JE {CaCOyng/1) -824 ~728 -823 -746 -696 -782 -679 ~687 -786 ~806 -824 -679 ~824 -762
g o8 a7 A Y EE (CaCOng/1) -882 ~778 -881 ~802 ~747 ~839 ~733 ~737 ~845 ~870 -884 ~733 -884 -818
| BREEA A (mg/1) 717 629 724 661 614 703 638 673 695 717 731 731 614 682
ég kA A (/1) 6.000 | 0.000 | 0.000 | 0.003 | 0.000 | 0.000 | 0.001 | 0.002 | 0.000 | 0.000 | 0.000 | 0.003 | 0.000 | 0.001
| EEAF (mg/ 1) 373 326 368 332 304 332 297 321 343 351 360 373 297 337
B 2k (mg/1} 10,2 9. 07 10. 2 8.45 8. 83 10.6 10.7 10.1 10.5 10.8 1.0 150 8.45 10.0
Al e tmg/1) 448 | L9z | 493 | 565 | 453 | 484 | 625 | 521 | 590 | 549 | s10 | 625 | ez | 475
re™  mg/D) 5.62 6. 89 6.17 2,74 4.12 5.26 4.25 4. 69 4. 50 5.21 7. 60 7. 60 2.74 510
B /D) w1 | 88l | 101 | 830 | 86 | 101 | 105 | 990 | 104 | 10.7 | 10.7 | 10.7 | 839 | 9.8
FainthiAy (mg/l) 39.4 35,1 38.9 36,5 33.0 36,4 38.9 37,0 38.0 38.9 1.1 41.1 3.9 37.6
FTAI=GA  (ng/D) 40. 2 35, 3 39.0 36.6 34,6 38,6 39.2 37.2 38.2 39.0 42,0 42,0 34.6 38.2
AN AL (mg/l) 61.4 56,9 83.5 57,6 55.6 80. 1 §0.2 62, 2 63.0 6.5 66.0 66, 5 55.6 61.2
H e b (mg/1) 62.0 57.6 64.5 58,0 56, 6 64.0 60.5 63.0 64,7 67.5 67,7 67.7 56,6 62.4
i SS (mg/1) 1.3 1.8 L1 5.0 1.1 1.7 3.3 1.0 3.0 2.3 2.6 5.0 Lo 2.2
A e (%) 1.4 1.5 0.9 1.9 0.6 1.4 2.1 0.9 0.9 L2 11 2.1 0.6 1.3
f’g W (wS/m) 525 460 516 470 433 524 444 484 512 536 551 551 433 496
B BECIL (mg/1) 166 147 148 148 143 161 147 149 161 160 168 168 143 154
BE ouw (mg/1) 166 150 148 150 144 161 147 153 161 162 169 169 144 156
% | BoD (mg/1) 0.67 0.20 126 | 121 0.76 | 0.90 0. 60 125 1. 00 1,34 0.88 £34 | 0.20 | 0.92
3‘ coD (mg/1) 3. 04 3,44 4.10 3.16 3.17 3,33 4,37 3.75 3. 51 4. 60 3. 81 4.60 3.04 3. 66
{i%[: BEH (me/1) 0.50 0,43 0.39 0,58 0.36 0.40 0, 56 0.22 0. 45 0.45 0,55 0.58 0.22 0. 44
Bl #ua {(mg/1) 0.669 | 0.541 | 0.873 | 0.487 | 0.405 | 0.462 | 0.323 | 0.481 | 0.417 | 0.330 | 0.345 | 0.669 | 0.323 | 0.458
B wrnus i (ge/h 0.1 0.2 0.1 1.0 1.2 1.0 It 1.2 1.8 0.8 0.6 1.8 0.1 0.8
Az EAFRER (mg/1) 4.92 5. 38 4.43 4.92 5.13 7.37 1.59 4.92 4,68 4. 61 5.33 7,37 4.43 512
B Kmmni (MPN/100m1) o 0 o 0 0 0 0 0 0 0 0 0 0 0
HEITL (mg/1) — e e e e e e e e e e e
BT (mg/ 1) e e e e el e e e e B e B B B
A (mg/1) e — e —_— e —- e — e — e — e —
Al 1 A (mg/1) B T B T e e B el B Bl Bt Bt it B
. L (mz/1) 2.07 1.90 2.4 2.04 1.69 1.76 1.32 1.87 1.90 1.71 1.91 2,14 1.32 1.85
me | EAREE R (mg/1) 2.05 1.89 2.14 2.03 1.68 1.76 1.28 1.84 1.88 1.67 1.84 2,14 1.28 1.82
B A (mg/ 1) — | — | — | — | — ] - - — - — | — | =] — ] — | —
H FAFAMER g/ D) — B — —_— — —_ — e — e — R e e
PCB g/ 1) e — e — o — — e —_— — e —_ e
rYZuoEFLr megl/l) e — — B — —_— — _ B — — P — — R — E— B — —
Fr3svazsor (ng/l) —_— | — - — | -] — | ] - | — ] — ] -] ] —
7y (ng/1) e ——— — — — — e o e — ——— e e —
T /=40 (mg/1) — — _— B — e — — e — — — i B
gl # (ng/1) —_— — — — — — — e —— e — s —_ e
AT g/ 1) e | e | e b e ] e e | e e ] o e ] e ] e e
;% gt~ v (og/1) R — e e e — — — o — — — —— —
| e R Gne/1) i T e e e e e el B e el W e s
Fl mnarznse v G/t — | = — | — ] = — | = 11—/ —1—1— 1 —

VA=

(g /1)
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N AR E I ERE R ORI - AER)

R RIS A SR

RCPH GO T DR 7 - B

BUEL ST HEE N BeRY 2 ¢
BEUER R 5H 64 78 85 . 9A 108 1A 34 Bk | By | P
Rk _ — & - I — S —— —_— i} B o ——— —
R (5 5%) — | tor3s | — | 1840 | — | 1250 | —— | —— | — | 13:35 | — | — | —— | —
ik (m*/s) — 0.48 —_— 0. 57 — 0.38 — — e 0.16 — 0.57 0.16 0. 40
% A — Fals — Hls — Fols —_ | — i _ ] — | — o
RAIE (m) e 0.30 — 0.31 —_— 0.50 e e — 0,25 —_— 0. 50 0.25 0.34
) A (m) e e e Ed5] e e 5] et Bl B #54 — — ] — —
ﬁ; SR (C) — | 175 | — | 2.2 | —— | 5 | —— | = | —— Lo | — | 272 1.6 15.1
@l kiR °C) — 3.4 e 20. 4 e 16.2 e — E 2.4 e 20. 4 2.4 13.1
%’ S8 — | mmes | — |eewes| — |eexes] — | — | — |ates| — | — | — | —
g | AKX () — R — .33 — 5 — | | — fue gy — -} — —
SR (cm) ——— 53 — 3.1 —— 3.3 — — _— 3.7 — 5.3 3.1 3.9
- EE (m 1—t1—1T—1/1—]1-—/—I|—l|l—-1—1—1—1—1—1-
Ai{ﬁ om— ——— m— _ m— - T— f,»h— o — I t'_ — —
pH . 5.19 — 7.03 e 5.72 —_— | — e 5.24 e 7.03 5. 19 5. 80
phd. 3BRHE (CaCOme/1) — | 407 | — | =222 | —— | -6.93 | —— | —— | —— | =524 | —— { -4.07 | -22.2 | -9.6l
pHE. ORI (CaCOgmg/1) - 8.73 — | -1l4 | — 2.48 ] — —_— 10.9 — 10.9 | -11.4 | 2.67
plig. 4BRET (CaClymg/1) — | 3.7 | — | 477 | —— | 27.0 | - — | = | = ] 47 | o} 447 4.8 27,0
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ﬁ B v (mg/1) — 0.74 e 0.93 — 0. 91 e e B 0.91 0.93 0.74 0. 87
oo~ oAl (ng/1) B €0, 4 ——— <0. 4 —_— .4 — — e 0.4 <0. 4 0.1 <0, 4
B 5L a7 07 E K (ig/1) — PSR [— <1 —_— <1 — | — ] — < J— < < <
7 (mg/1) e 0.00 | 0. 00 — 0. 00 e ol 0.00 e 0. 00 0. 00 0.00
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FEA OPRUSEE  RoRY AREE

AURFERI 1 Bl 4,

S HTN YRR 42
BB B 5H 64 7J 8H 9H 16J) 115 127 LA 21 3H JERAE | JeoMi | A
AR
R — £ — B — fif§ — — | - W E— e — e
PRI (54457 — Va5t | —— | 858 | —— | 10510 | o | —— | — | 13515 | e
b 4 (/) — — — — — - —— o — — — — e —
B — ol ———— el —— el e e — FEd — — e —_—
w37 (m} — B AR — R — e —  |BERE —— — e —
BRACKGE () S = — Fi — E-d o — — A — — e —
iﬁ =t c) — ol — s | — |1 | — ] — | — 50 | — | 23] 50 | 171
Bl & C) e 18.1 — 22.4 — 14.7 _— — —— 9.5 e 224 9.5 16.2
Tﬂé sl — | mpeR| — pa®m | —— BE#H | e | — — | BRAE | — e
a1l 2% Gils3) — R —— 3 — L5 e . — R — | - — o —
B (em) o 25,1 —_— 27.7 R — 30.0 R — — 14,6 — 30.0 14.6 24. 4
HE (m} — e e — — e — — — — — —
7k& J— ROV JE— R JR— ROV - JR— [N JR— J— _ J— J—
pH — 5.31 — 5,30 —_ 5, 57 — e 5.32 e 5. 57 5.30 5. 38
pH4. 3EREE (CaCOyme/ 1) — | a7 — | 442 | — | ~4.82 | —— — e ~4.38 f —— | -8.71 | -4.62 | ~4.28
pH6. OFELE {CaCOmg/1) e 7.62 e 3. 61 — 3. 56 — —_ e 9. 51 — 9.51 3.56 6. 08
pH8, 4B {CaCOgny/ 1) e 26.3 —_— 16,8 — 18.7 e — e 37.4 — 37.4 16. 8 24.8
pHA. 37 A7 U FE (CaCOpmg/1) — 1 am | —— | 142 — 462 | — | — | — | a3 | — 1 462 | 371 | 4028
pH6. 07 e U B (CaCOymg/1) — -7.62 R —— ~3. 61 o ~3. 56 — R —_— -9, 51 — -3,56 | -9.51 | -6.08
s pHB. 47 A U R (CaCOmmg/1) — | -26.3 — 15,8 — ~18.7 —_— —— — | -87.4 — | -16.8 | ~87.4 | -24.8
ey BREEA A (mg/1) B 335 — 320 — 384 — E— — 495 e 496 320 384
l?% Wifvdn A {mg/1) ——— 0. 000 — 0. 000 —_— 0. 000 e — — 0. 000 B 0.000 | 0.000 | 0.000
1; Bt Ay g/ e 177 _ 166 _— 197 B — —_— — 265 — 255 166 199
W ek (mg/ 1) —_ 2.64 — 1,77 e 1. 76 e —_— B — 2. 6% — 2.69 1.76 2,22
A Fe®" (mg/1) e L50 | - — 1.03 — 0.87 e e — 1.59 e 1.59 0.87 25
e {mg/ 1) — 1 000 | — | 000 | —— 000 | — | — | =— {000 | — | 000 | o.oo | 0.00
VEREMESR (mg/1) e 1.50 1.03 —_— 0.87 — e — 1. 59 R — 1.59 0.87 1.25
FrHI=gnl Ay (ng/1) B — 2.45 — 118 — 1.52 — - — 3.54 R 3.54 115 2.17
TZT =g h Gug/ 1) — 5. 19 — 3,19 —_— 3,19 — —_ — 5.98 E— 5.98 3. 19 4.39
BT A Y mgl/1) — 190 e 175 — 215 S — e 278 — 278 175 215
By A (mg/1) — 191 — 176 R 215 R R —_— 285 — 285 176 217
&l s (mg/1) — 15.6 —— 16.7 R 13.1 R e _ 19.5 —_ 19.5 13. 1 16.2
AL e (F) e e | s | — T rt | — | — ] — | o | — | 120 | w1 | 234
z AR (mS /m) e 122 B — 113 — 133 _— — — 165 — 165 113 133
W BEVIS (mg/1) R 72.0 —_— 52.8 e 76.0 e — ] e — 97.1 e 97.1 52.8 74.5
Bl wuw (ng/1) — T | — o7 | — | 70 | — | — | — 108 | e 100 | 67.7 | 79.1
% | BOD {mg/1) — 0.25 —_ 0.67 — 0.50 B —_ e (.26 e 1,26 0.25 0.67
ék con {mg/1) —_— 171 e 1.59 — 174 — ] e — 3.81 — 3. 81 1.59 2.21
?i Baok  Ame/) —— | 66 | — | 08 | — | 068 | — | -—— | —— | 0.83 | — | 0.8 | 062 | 0.74
B #hA {mg/1) —— 0. 069 —— 0.076 | —— | 0.081 E— e — 0. 149 _ 0.449 | 0.061 | 0. 164
B s mm 7 on (pg/l) — 01 | — | 0.5 | e | — | — | — | 11 | — L1 0.1 0.7
g EERE (mg/1) oo | 83,87 | = | 80l | — | 855 | — | —— | —— | 080 | — | 9.80 | 801 | 8.8l
N (MPN/100m1) e 34 — | 3x10°] — Jz.4ax10f| —— — R 13 —— o ax10®] 13 |1 ox10*
BRI YA (mg/1) e 0. 000 — 0. 000 — 0. 000 —_— —_— — 0. 001 B — 9,000 | 0.000 | 0.000
LT (mg/D) — "% | — {000 | — | 000 | — ] — | — | 000 | — | o000 | 000 | 000
£ {mg/1) — 0. 003 — 0. 002 e 0. 002 e e — 0.005 — 0.005 | 0.002 | (.003
pat I EA=P (mg/1) e 0.00 — 0.00 — 0. 00 e —_— 0,00 —_— 0.00 0.00 0. 00
. b (mg/1) e | 0.085 | — 0,156 | —— | 0.148 | — e — | 0287 | —— | 0.287 | 0.085 | 0.169
ge | AEERE (mg/1) e 0,006 | —— | 0.027 | — | 0.008 | — B — 0017 | —— L o0.027 | 0.005 | 6.014
B A (mg/1) — | 0. 0005 —— |<0.0005| —— |<0.0005] — —— — <0.0005| ~— |<0.0005] <0.0005] <0. 0005
B vxnkim e — Tl | — | wmm | —— | Fmm | — | — | —— | Fmm | | sl | e | Rm
PCB {mg/1) — 1 0.0000 | —— | 00000 —— | 0.0000 - _ - 0.0000 | ~— | 0.0000 | 0.0000 | 0.0000
FlzuanxFrr {ng/l) — | <0.008 | —— | <0.003 | -—— | <0.003] — o —— | <0003 | — <0.003 | <0.003 | <0.003
FrosunxFis (ng/l) — 140,001 | —— ]<0.000| —— | <0.001] - — — 1 <0.001 | —— §<0.00t | <0.001 | <0.001
7 v H (mg/1) —_— 2.22 B 2.00 e 2.53 — e —_— 3,99 — 3,99 2.00 2.69
Tz = (ug/1) e | 0.000 | = | 0.000 | —— | 0.000 | — — — | 0000 | — § 0.000 | 0.000 | 0.000
| & (wg/1y ] e - | 0.006 | — | 0,006 | — | 0.000 | — — e {70000 | —— | 0.006 | 0.000 | 0.003
WKW (mg/1) — 0.079 — | 0.067 — | 0.043 _— e L0127 | e 0.127 | 0.043 | 0.079
é B~ A /1) — 0,83 —_ 0. 88 —— 0. 90 ] —_— R 1.02 e 102 0. 83 0.91
| e AR (ng/ D) — <0.4 R — <0. 4 R <0.4 e —_ —— .4 — 0.4 <0. 4 0.4
B RAn7rvse K g/l — <1 — a — <A — — ] — <1 —_— <t <1 <
VAU (ing/1) o 0.00 B 0.00 e — 0.00 e — e 0. 00 e 0. 00 0. 00 0.00
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Eh PRISTE oS BT TR S PP - “_
LU £ R
R 50| 68 | 7H | 8A | oA | 108 | U | i2A | A | 201 | 80 | ek | Reddk | wHE
A b
Fh — | — 1 — 1 —1— | = w | A= | w | w | w | — | — | —
PRI (152 57) e T T w0 | s | s | 1310 | 13i35 | 105 | — | — | ——
P di (n’/s) — _ — — —_— 0.20 0. 39 0.57 0.26 0.26 0.40 0.57 0. 20 0.33
AR — - R — e i la s Bl bl s s — e —
Sk G () — — _— e e 0.65 0.25 | 0.25 0. 95 0.35 0.25 — —_— e
AR ) — | — | = —=1 — 1=z | =& #H | wm | — | — | —
I’% SR, (C) - | — | — | = | - 14.0 10.8 1.8 4.0 4.0 | 1.8 6.2
Pl T G | — | ] — | ] 1o | 105 3.0 2.5 13.0 5 6.4
(8 T — T/ =T = Tenes) mean whgh | meEy | — | — | —
T ) — | — | — | — | — | =5 | =n L | oms | owa | owR | — | — | —
T (em) e |l T el 50, 08|50, 05 k| 50, 0B E|80. 08 k|50 0pi k50, opt b e | e | e
HVIE =) — | — 1] ——1T—1—1]—1—1—1—1T—
m‘(@ [ JUO— JEE— J— Joo— JR— PR JR— J—— P JR— JR— JR— JE—
pH —_— | — | == | —— | — | 6.8 [ 703 | &5 | 7.07 | 68 | 693 | 707 | 6.5 | 688
pH4. 3EEEE {CaCoygmg/1) = | = | e ] e | e | 42,6 | 13,0 | <718 | -14.9 | <110 | ~0.24 | ~7.16 | <149 | -11.3
oHG. OfiRE Cacopg/) | — | — | — | — | — | -781 | -7.16 | -3.02 | -8.97 | -5.04 | -a.62 | =302 | 827 | -5.97
8. 48R (CaCOme/1) — | — | — | = | — | 432 | 28 | 302 | 221 | 337 | 3220 | a2 | 221 | 317
o4, 3F A U FE (CalOgmg/1) e | — | — } — | — | 126 | 130 | 716 | 1o | 1o | o2t | 149 | 7 | 103
B, 07 /L% U i (CaCOyme/1) | — | = | —— | 78 | 716 | 302 { 827 | 504 | 452 } 827 | 302 | 507
5 | pl8. 47 Y g (CaCOme/1) — e —_ — e -4.32 | -2.86 | -3.02 | -2.21 | -3.37 | -3.22 | -2.21 | ~4.32 | -3.17
1 BERA AV (mg/1) s —— — —_— —_— 84.0 80.5 73.1 916 107 73.7 107 73.1 5.0
g | ikt £ /D — | — 0 — | — | — | — — | — ] =] — ] — | — | —
W] R A (mg/1) e | — | N — 222 | 245 | 180 | 279 | 326 | 200 | 326 | 180 | zs2
Hl S (mg/1) i - — —_— R e 0.36 0. 85 0.18 0.34 0.47 0.21 0,36 0.18 0.29
Sl e/ e e | ] =] =[] 000 | 003 | 005 | 0oz | 005 | o0z | 006 | 000 | o.03
e (mg/1) e T = — | — T o001 | 001 | coo | voo | vee | co | oot | o0 | 001
TRIRPEER (mg/1) — e e — e 0.0l 0.07 0.06 | 06.02 0.05 Q.02 0.07 0,01 0. 04
FAL=G LA (ng/1) ST == o0t | oos | 004 | cos5 | 003 | vot ) o6 | 0.03 | 004
TAIETA  (oe/D) — | =] = — 1 — 11— — | — | =1 — | —
BA Yy WA d (ng/1) e | — | | == | — | 321 | 370 | 30.3 | 30.0 | 443 | 294 | 443 | 204 | 857
BT (ng/D) — | — 1 =1 — [ =11 —1—=1-—1—1—1—{— 1=
R (mg/1) NI NNINNS, | — i — 1.0 1o 1.4 13 1.2 2. 24 | L0 L4
K| 73 — = =1 — 1 =1 —]1—1—1—1—1—1== o
E W (S /m) — | | — | — | —— | 209 | 313 | 253 | 352 | .2 | 269 | 35.2 | 253 | 313
£ BEUIE (/) — =11 —1 —1—1—/—1—1|1—1—1]1—1-—
Al cun (ng/1) — =] =11 =] — 1l —| =] — | — | =] — | —
7 | BOD Gng/1) — | — ] — — | o8 [ o2r | o6 | o2t | ona | o2 Loz [ 04 | 020
% | oo (me/1) e | e | e | = | —— | Lo8 | 136 | 660 | 098 | 097 | 108 | 156 | 060 | o5
x| eEx o) | — | == = = —| = — 1 — ] — | — | — 1 —1—
Bl #oa wy | — | = = ] — /=1 —| —]1 —/—1]—1—
Y% aarr (ug/) — =1 ] 11—/ —1"—1~—41—1—=1-—
| OB we/) | - — [ — T 1] —"T=1T—1—1T—=1T—1T—1]—1—71T=
IS opvioonty | — | — ) — | — | — | — ] - ] — ] ] -] — ]
AFiyh  (mg/D) — —1—7 1 —1—1—1—1—7T—1—1—1—1—
LTy (ng/1) — = = =101 =111\ —=1=I=—7T==
& (mg/1) — == =] —] =1 =] —1—| —] —1—
K70 s e/l — ] — =11 ——"T—1]1——1—]1—1—71—1—1—1=
w | E# /) | — | — | — | — | ~— | 0.000 | 0.002 | 0.000 | 0.000 | 0.000 | 0.000 | 0.002 | 0.000 | 0.000
| WAHEER e/ — -1 — I —|—1—/—{—1"—1—
B ok ng/1) — 1T — =1 — =] — 1 — 1 —0] —1—1—
Pl 5k — === =1 =1 =1 —1—1—"1—01—71T—=1=
PCB (mg/1) — — —— — — — — ] — — ] — | ] — ] —
MR FLL (ag/l) RSN U N, — S — ] — — = =t — | — ] =
FRIsunEFLs (ng/l) —— — — | - — | —} — ] — ] — ] — | — ] — | — | —
7o (mg/1} — e —— | | il Wttt Mt st Bisnsitll Mt Pt Bl
Zx =AM (ng/D) e — - -} - — ] - — — ] — ] — ] — | —
g | o (mg/1) — == —— 1 —| —|— ]| — | — 1 — - — 1 — 1 —
kg (ne/D) — = 1= —1 ] —"1—T—1—1T—1—
AR A — | — ] — == —/ | —1—|—1—1—1—
1 | e A (/1) — -] — ] — | — 1 — | — | — | = — | —
H B BT AFE R (ng/1) e — — — — — — _— —_— — —— —_— B —
s vk (/1) B I G - — ] ] — ] — | — | —
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EBA OERISHEE SRS LKERHE ABHERI Y EM4A
% EETETEl e
BRIER R 5F 6J] ;] 81 9h 10/ 1A 128 1A 2 35 BeoRff | BoME | EEE
HE A
K — — — — — & I3 g I I & — — —
EdiniA| (B5:43) —_— —_— —_— —_— —— 10:00 | 14:20 | 13:50 | 13:35 | 14:00 | 13:10 | — - —_—
i w?/s) — | — | — | — | — | 385 1.97 3.65 3. 14 2,80 3.68 3.85 1.97 3.18
BN —— — — — — kR Rt FE i Ef i — — —
ARG (m) — — — —_— —_— 0.30 0.50 0. 90 0.30 0.50 0.50 — — —
FRAKTE (m) — — — — — FJE FIE] @ ] b5 E3E — — —
ii'; e ) I ey — e TR TR X 1.5 12 6.8 | 7.0 | 12 7.2
T s/ (C) — — — — — 14.0 13.6 8.8 7.0 8.2 9.4 14.0 7.0 10.2
;ng VVVVV s —_ —_— —_— —_— — |#anes @68 | aeE | BRel [ReRen| gnem | —— e —
B | &% (#RIFF) —— | — | | /| MR R | fEeR | Mem | R MR ) — | — | —
HHUE (cm) — | — | — | — | — | 2.0 27.1 18.0 25.4 [50.00LE| 33.7 | 33.7 18.0 25.8
B (m) — — — — — — — — — — — — — —
A -l 11— —|—| —| —|—| — | —
pH —_ — —_— o —_— 5.76 5.75 5.43 5.71 5.33 5.60 5.76 5.33 5.60
pH4. 3ELAE (CaC0ymg/1) —_— — — — — ~5.34 | -4.99 | -4.13 | ~4.99 | -4.38 | -3.97 | -3.97 | -5.34 | -4.63
pH6. OFfRE (CaC0ymg/1) _— — — — — 2.21 3. 11 5.89 1.91 7.54 6.49 7.54 1.91 4.53
pH8. 48R L (CaCO4mg/1) —_— — —_— —_— — 16.1 22.2 23.5 20.8 29.6 20.2 29.6 16,1 22. 1
pH4. 37 4 U E (CaCOqmg/1) — — — — —_ 5.34 4.99 4.13 4.99 4.38 3.97 5. 34 3.97 4.63
pH6. 07 VA U BE (CaCOymg/1) — — — —_— — | -2.21 { -3.11 | -5.89 | -1.91 | -7.54 | -6.49 | -1.91 | -7.54 | -4.53
g |_pHs. 47w Y E (CaCOumg/1) —_— —_— —_— e — -16.1 [ -22.2 [ -23.5 | -20.8 | -29.6 | -20.2 | -16.1 | -20.6 | —22.1
P BRERA A (mg/1) — | — | — | — 354 350 310 382 411 380 411 310 365
g | idetn ok oa/1) — | ————— | — | — | — ] — | — | — | — 11—
| hdEA A (mg/1) — — — —_— —_— 176 174 154 198 214 194 214 154 185
H ) 2% (mg/1) — — — — — 1.37 2.63 3.02 2.49 2.25 2.16 3.02 1.37 2.32
A Fe¥ (mg/1) — — e e —_— 0.26 1.93 1. 66 1.26 1.22 1.36 1.93 0.26 1.28
Fe* (mg/1) — — — — — 0.00 0.00 0. 00 0.00 0. 00 0.00 0. 00 0.00 0.00
FAfRM: Bk (mg/1) — — -— — —_ 0.26 1.93 1. 66 1.26 1.22 1.36 1.93 0.26 1.28
FI=g ALt (mg/1) —_— — e —_ — 1.13 1. 76 1.98 1.83 2.53 2.24 2.53 1.13 1.91
FAI=T LA (ng/1) -l 11— | — | — | — | — | —
BT A A (mg/l) — — —_— — — 193 188 173 212 229 207 229 173 200
HAL T b (mg/1) — ] — - — ] — ] — | — | — | — ] — | — ] — | — | —
| ss (ng/1) —_— — — — — 9.0 11,7 17.5 12.1 14.6 9.2 17.5 9.0 12.4
| () — — — — — — — — — — | — — — —
E HeEE (mS/m) - | — | — | — | — 122 120 108 133 142 130 142 108 126
m| WwEVUL (mg/1) — — — — — — — — — — — — — —
Bl 2w (mg/1) — — — — — — — — — — — — — —
% | BOD (mg/1) e —_— —_— e e 0.36 0.37 0.15 0.26 0.13 0.26 0.37 0.13 0.26
712 cap (mg/1) —_— —_— . — e 1. 42 1.84 1.23 1.54 1. 60 2.11 2. 11 1.23 1.62
?E REX (mg/1) — — — — — — — — — — — — —
B | #oA (mg/1) — — — — | — — — — — — — — —
B wruaran (ue/b) — | — — — — | — — — I — — — — | —
| BERE (mg/1) - — — — — — — — — — — — — —
B ki oevoon | — | — | — | — | — | — | — | — | — | — ] — | — | — [ —
BRI 7L (mg/1) — — — — — — — — — — — — — —
£LT (mg/1) — — — — — — — — — — — — — —
) (mg/1) — — — — — — — — e - — — — —
Al e s (mg/1) - ===l — 1 — | — | — | —
w | EFE (mg/1) —_— — — — ——  0.100 | 0.125 | 0.158 { 0.120 | 0.183 | 0.110 } 0.183 | 0.100 | 0.133
| mmEER me/D) — -1/ —]1—1—/—|—1—1—1—1—
B ke (mg/1) — — — — — — — — — — — — — —
R FNFAKER  (mg/1) — — — — — — —_— — — — -— — —_ —
PCB T me/D) e —— . e e e e———
FYzoazFLy (ng/l) _— — — — —_— — — —_— — —_— — — — —_
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7ok (mg/1) — — — — — — — — — — — — — —
Tx/)—ME (mg/1) — —_— —_— —_— —_— —_— —_— —_— —_— —_— — — — —_—
He| (mg/1) — — — — — — — — — — — — — —
o TS (mg/1) — — — — — — — — — — — — — —
ﬁ a2 (ng/1) — — —_— — — — — — —_— — — — — —
| n-~FYoAmtis (meg/1) — — — — — — — —_— — — — — — —
H AL FAFE R (ng/l) —_— —_— — — — -— — -_— —_— e — — — —
VASEN (mg/1) — — — — _— — — — — — — — — e




